I

y

FRE bR VARHE R

T EREGAT

FHBEMRILVAHER SREELS
IREAER T EMEAHT FESFERE~IEIEIR

, L = 15,200 m -
- _ R X NANZKHE T
B L=4800m | L =7,070 m | L =3,330m
BxzAEX
RS
TEBXE
HoUERE
BT B
L FHOE BRI &
L =10.6m L=61.0m
I Lfffﬁm EE KA
BRIV :
4 ™ o8 ALk RV <,
--..."... gx\}/ _%xb‘ \v,,o
. -.'l., V Aﬁ’éﬁv & AL ./ | &
LLL T T e d 3
.\ - ‘M L] lll'llnll@»%.Atz
\ . %
AEURMHIL ! %
] 4 T



FoEm oK (1)

$=1:500

No.0.0

TH2EE FHMEAFORILAERER HEEREISE

iy = iy = &3 e
MEAER T AREART  FEEHEAE ~ B IEIR
SHEBET L=561m
HEITHT L=561m W=7.0~7.6m A=4,010m2
RETL t=5cm No.40-0
No.32-0 | No.33-0 As L=41.2 1 Nos40 1=840| No35-0 Nold6-0  No.37-0 L=38.3 | e 8-0_1n | No.89-0 L=405 =179 No.41-0 L No.42-0
L=11.6 As As L=33.3 As . HE =551 vl As As As L=40.7 As L=30.7
BREBFARBET t=20cm
A—FL—L L=2888 | H—FL—)L  L=480
I
2 E g g g 8
b o & it $ it 3 2
Py 3 o9 g b Fd b af
o 3 3 oy g o B + ¥
<2 ot 59 I $ 38 °y o
o b + i © Pty e oo
% x & ag o8 3 3
o8 ) g g 2 o o
o ¥
3 g _

x,

\//\\\\J/

N
I —

BT A #EL=ana

//

—

BERNER

s=1:50

I W=1.0~7. 6m |

‘ i Y=6. 447, 0n | ‘
[ome 200 gy 200,

i : auile

W 3
| | = i
| REEHMMBZET (E30mn & &5mm) + SH2ER FHELUABLE BEEE T
#8] 4] sann [#R[ @R
BEYHT (FHt=15cm) (IRYIHIt=5cm 2RIHIt=10cm)
X E I (RUI—HEDTBHEHMAs20F)

t= 5cm

BERENET (BEMBRREQREH 40)

BEBAEBBT (A2 3 3%RE)

t=10cm

t=20cm

A b2 HHER R1425)

& %R E B N

e G
BEtRt

RERHE
MBS TEEHE
BERU TERHE




FoEm oK (1)

$=1:500

No.0.0

TH2EE FHMEAFORILAERER HEEREISE

iy = iy = &3 e
MEAER T AREART  FEEHEAE ~ B IEIR
SHEBET L=561m
HEITHT L=561m W=7.0~7.6m A=4,010m2
RETL t=5cm No.40-0
No.32-0 | No.33-0 As L=41.2 1 Nos40 1=840| No35-0 Nold6-0  No.37-0 L=38.3 | e 8-0_1n | No.89-0 L=405 =179 No.41-0 L No.42-0
L=11.6 As As L=33.3 As . HE =551 vl As As As L=40.7 As L=30.7
BREBFARBET t=20cm
A—FL—L L=2888 | H—FL—)L  L=480
I
2 E g g g 8
b o & it $ it 3 2
Py 3 o9 g b Fd b af
o 3 3 oy g o B + ¥
<2 ot 59 I $ 38 °y o
o b + i © Pty e oo
% x & ag o8 3 3
o8 ) g g 2 o o
o ¥
3 g _

x,

\//\\\\J/

N
I —

BT A #EL=ana

//

—

BERNER

s=1:50

I W=1.0~7. 6m |

‘ i Y=6. 447, 0n | ‘
[ome 200 gy 200,

i : auile

W 3
| | = i
| REEHMMBZET (E30mn & &5mm) + SH2ER FHELUABLE BEEE T
#8] 4] sann [#R[ @R
BEYHT (FHt=15cm) (IRYIHIt=5cm 2RIHIt=10cm)
X E I (RUI—HEDTBHEHMAs20F)

t= 5cm

BERENET (BEMBRREQREH 40)

BEBAEBBT (A2 3 3%RE)

t=10cm

t=20cm

A b2 HHER R1425)

& %R E B N

e G
BEtRt

RERHE
MBS TEEHE
BERU TERHE




E & (2 ) $=1:500

TH2EE HFNBFOXRILEHER SHEBEIS
IEAAR T AREAET FASEEIE~EISIR

SHEEME#ET  L=561m

EHEEITHR T  L=561m W=7.0~7.6m A=4, 010m2
xET t=5cm
BFERXTEWLET t=10cm
BEBARBIT t=20cm

!’ No, 561

As L=76.2 No.44—9 As

No.43=0 o L=738 No.46—0
FHEL—l_ L-1708m l: No.45-0 As L=100.0 L=7.7
og ASS
+ -
z2 2 s b
: 0 s S -
S ENN =) W ek
S [ RN ‘Y{f
R A g . ; !
L 3 < /] ) i (( % % ‘a
3 L= |
&l
@ 3 N\ /
P2 =

> Vo 6100,

% It
SH2EE FNELAANER SRR I3
22| ssr0 |#R[ @7

SFHM b o %R RIVE)

BEBTEGE EHEE~RER

me|  [me| [ma] [m]
EB BB A

. ST
wmita

R
MRS TE

BERH EEHNTE




E & (2 ) $=1:500

TH2EE HFNBFOXRILEHER SHEBEIS
IEAAR T AREAET FASEEIE~EISIR

SHEEME#ET  L=561m

EHEEITHR T  L=561m W=7.0~7.6m A=4, 010m2
xET t=5cm
BFERXTEWLET t=10cm
BEBARBIT t=20cm

!’ No, 561

As L=76.2 No.44—9 As

No.43=0 o L=738 No.46—0
FHEL—l_ L-1708m l: No.45-0 As L=100.0 L=7.7
og ASS
+ -
z2 2 s b
: 0 s S -
S ENN =) W ek
S [ RN ‘Y{f
R A g . ; !
L 3 < /] ) i (( % % ‘a
3 L= |
&l
@ 3 N\ /
P2 =

> Vo 6100,

% It
SH2EE FNELAANER SRR I3
22| ssr0 |#R[ @7

SFHM b o %R RIVE)

BEBTEGE EHEE~RER

me|  [me| [ma] [m]
EB BB A

. ST
wmita

R
MRS TE

BERH EEHNTE




